Yearly Between 01/04/2015 and 31/03/2016

Alexandra Road, Ynysddu		
Payment Value	# Notices	Total Value
£30.00	1	£30.00
	1	£30.00
Bridgend Inn Bedwas		
Payment Value	# Notices	Total Value
£30.00	1	£30.00
	1	£30.00
Gordon Road, Blackwood		
Payment Value	# Notices	Total Value
£30.00	20	£600.00
£75.00	4	£300.00
	24	£900.00
Highland Terrace, Blackwood		
Payment Value	# Notices	Total Value
£30.00	20	£600.00
£75.00	4	£300.00
	24	£900.00
Market Traders, Blackwood		
Payment Value	# Notices	Total Value
£20.00	1	£20.00
£30.00	23	£690.00
£55.00	1	£55.00
£75.00	1	£75.00
	26	£840.00
Pen-Y-Fan Pond Car Park		
Payment Value	# Notices	Total Value
£30.00	1	£30.00
	1	£30.00
Sirhowy Valley Country Park, Crossk	eys	
Payment Value	# Notices	Total Value
£10.00	1	£10.00
	1	£10.00
Ystrad Mynach		
Payment Value	# Notices	Total Value
-£30.00	1	-£30.00
£1.50	2	£3.00
£2.00	1	£2.00
£30.00	94	£2,820.00
£35.00	1	£35.00
£40.00	1	£40.00

£75.00	5 105	£375.00 £3,245.00
Group Totals:	183	£5,985.00
rgoed		
St Gwladys, Bargoed		
Payment Value	# Notices	Total Value
£5.00	5	£25.00
£10.00	3	£30.00
£30.00	56	£1,680.00
£35.00	1	£35.00
£65.00	1	£65.00
£75.00	10	£750.00
	76	£2,585.00
The Emporium, Bargoed		
Payment Value	# Notices	Total Value
-£30.00	1	-£30.00
£30.00	36	£1,080.00
£75.00	3	£225.00
	40	£1,275.00
Group Totals:	116	£3,860.00
ackwood		
Bus Station, Blackwood		
-	// N I .:	T . IV.
Payment Value -£30.00	# Notices	Total Value -£60.00
£0.80	2 1	£0.80
£1.00	12	£12.00
£15.00		£15.00
£20.00	1 3	£60.00
£29.20	1	£29.20
£30.00	112	£3,360.00
£45.00	1	£45.00
£75.00	6	£450.00
	139	£3,912.00
Cliff Road, Blackwood		
Payment Value	# Notices	Total Value
-£25.00	1	-£25.00
-£20.00	1	-£20.00
£5.00	2	£10.00
£10.00	2	£20.00
£15.00	2	£30.00
£20.00	4	£80.00
£25.00	2	£50.00
£30.00	162	£4,860.00
£45.00	1	£45.00
£50.00	1	£50.00
£75.00	13 191	£975.00 £6,075.00
Courthouse, Blackwood		
•	# Notices	Total Value
Payment Value	# Notices	Total Value

£2.00	1	£2.00
£30.00	33	£990.00
£75.00	5	£375.00
	39	£1,367.00
High Street, Blackwood		
Payment Value	# Notices	Total Value
-£35.00	1	-£35.00
-£30.00	6	-£180.00
-£15.00	1	-£15.00
£3.50	3	£10.50
£5.00		£10.00
£10.00	3	£30.00
£15.00	2 3 3	£45.00
£25.00	5	£125.00
£30.00	616	£18,480.00
£30.01	1	£30.01
£35.00	5	£175.00
£40.00	1	£40.00
£45.00	4	£180.00
£50.00	4	£200.00
£70.00	1	£70.00
£75.00	_ 50	£3,750.00
	706	£22,915.51
Libanus, Blackwood		
Payment Value	# Notices	Total Value
£30.00	41	£1,230.00
£75.00	1	£75.00
	42	£1,305.00
Red Lion, Blackwood		
Payment Value	# Notices	Total Value
-£30.00	1	-£30.00
-£10.00	1	-£10.00
£5.00	1 8	£40.00
£10.00	6	£60.00
£20.00	2	£40.00
£30.00	127	£3,810.00
£35.00	1	£35.00
£75.00	9	£675.00
	155	£4,620.00
Thorncombe Road No 2, Blackwood		
Payment Value	# Notices	Total Value
-£75.00	# Notices 1	-£75.00
-£30.00	2	-£60.00
£7.60	3	£22.80
£25.00	3 3	£75.00
£30.00	47	£1,410.00
£35.00	1	£35.00
£75.00	12	£900.00
2,0.00	69	£2,307.80
Thorncombe Road No 3, Blackwood		
	# Nations	Total Value
Dayment Value		IUIAI VAILIE
Payment Value	# Notices	
-£30.00	2	-£60.00
•		

£37.50	1	£37.50
£40.00	1	£40.00
£75.00	6	£450.00
	104	£3,259.50
Wesley Road, Blackwood		
Payment Value	# Notices	Total Value
£2.00	2	£4.00
£5.00	9	£45.00
£10.00	2	£20.00
£15.00	2	£30.00
£20.00	1	£20.00
£30.00	106	£3,180.00
£37.50	1	£37.50
£45.00	1	£45.00
£75.00	11	£825.00
	135	£4,206.50
Woodbine Road, Blackwood		
Payment Value	# Notices	Total Value
-£30.00	2	-£60.00
£5.00	2	£10.00
£30.00	104	£3,120.00
£35.00	1	£35.00
£40.00	1	£40.00
£75.00	6	£450.00
	116	£3,595.00
Group Totals:	1,696	£53,563.31
erphilly		
Bedwas Road, Caerphilly		
Payment Value	# Notices	Total Value
-£30.00	1	-£30.00
£12.00	2	£24.00
£24.00	1	£24.00
£27.00	1	£27.00
£30.00	74	£2,220.00
£40.00	1	£40.00
£45.00	1	£45.00
£50.00	1	£50.00
£75.00	11	£825.00
	93	£3,225.00
Crescent Road, Caerphilly		
Payment Value	# Notices	Total Value
-£45.00	1	-£45.00
-£30.00	7	-£210.00
-£3.50	1	-£3.50
	1	£0.80
£0.80		£4.00
£2.00	2	
£2.00 £3.50	2 11	£38.50
£2.00 £3.50 £26.00	2 11 1	£38.50 £26.00
£2.00 £3.50 £26.00 £30.00	2 11 1 169	£38.50 £26.00 £5,070.00
£2.00 £3.50 £26.00 £30.00 £45.00	2 11 1 169 1	£38.50 £26.00 £5,070.00 £45.00
£2.00 £3.50 £26.00 £30.00	2 11 1 169	£38.50 £26.00 £5,070.00

Cwmcarn Fo	rest Cent	tre & D	rive
-------------------	-----------	---------	------

Payment Value	# Notices	Total Value
£30.00	6	£180.00
£75.00	1	£75.00
	7	£255.00

Lawrence Street, Caerphilly

Payment Value	# Notices	Total Value
£30.00	10	£300.00
	10	£300.00

Station Terrace, Caerphilly

Total Value	# Notices	Payment Value
-£30.00	1	-£30.00
£2.00	1	£2.00
£1,320.00	44	£30.00
£150.00	2	£75.00
£1,442.00	48	

The Twyn, Caerphilly

Payment Value	# Notices	Total Value
-£75.00	1	-£75.00
-£30.00	7	-£210.00
£0.60	1	£0.60
£6.00	1	£6.00
£10.00	1	£10.00
£15.00	2	£30.00
£25.00	1	£25.00
£30.00	368	£11,040.00
£45.00	2	£90.00
£50.00	1	£50.00
£75.00	39	£2,925.00
	424	£13,891.60

White Street, Caerphilly

Payment Value	# Notices	Total Value
-£30.00	1	-£30.00
£30.00	18	£540.00
	19	£510.00

805	£25,299,40
	805

Llanbradach

Station Road, Llanbradach

Group Totals:	3	£00 00	
	3	£90.00	
£30.00	3	£90.00	
Payment Value	# Notices	Total Value	

New Tredegar

Jubilee Road, New Tredegar

Payment Value	# Notices	l otal Value
£30.00	1	£30.00

	1	£30.00
Group Totals:	1	£30.00
Pontymister		
Herbert Avenue, Pontymister		
Payment Value	# Notices	Total Value
£30.00	1	£30.00
£75.00	2	£150.00
	3	£180.00
Group Totals:	3	£180.00
Grand Totals:	2,807	£89,007.71